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定積分
∫ 2 loge 2

0

x|ex − 2| dxを求めよ．

(22 富山県大 工 1(3))

【答】 4 loge 2− 2(loge 2)
2 − 1

【解答】
ex − 2は x = loge 2で符号が負から正に変わるから∫ 2 loge 2

0

x|ex − 2| dx = −
∫ loge 2

0

x(ex − 2) dx+

∫ 2 loge 2

loge 2

x(ex − 2) dx

として絶対値をはずすことができる．部分積分法により∫
x(ex − 2) dx = x(ex − 2x)−

∫
1 · (ex − 2x) dx

= x(ex − 2x)− (ex − x2) + C (C は積分定数)

= (x− 1)ex − x2 + C

であるから ∫ 2 loge 2

0

x|ex − 2| dx

= −
[
(x− 1)ex − x2

]loge 2

0
+

[
(x− 1)ex − x2

]2 loge 2

loge 2

= −2
{
(loge 2− 1) · 2− (loge 2)

2}− e0 +
{
(2 loge 2− 1) · 4− (2 loge 2)

2}
= −4(loge 2− 1) + 2(loge 2)

2 − 1 + 4(2 loge 2− 1)− 4(loge 2)
2

= 4 loge 2 − 2(loge 2)
2 − 1 ……（答）

である．


